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Trigonometry Review

Communication in all guestions must include: You will be given the following information:
*  Enough steps shown to clearly demonstrate thinking
*«  Solutions that are neat and easy to follow
+  Proper use of mathematical symbols @+t =c SOH CAH T0A
* Equalsigns aligned a b c sind __ sing _ sinC
*  Lnits used as required sinA _ snB _ snC a B e
« (Concluding statements for all word problems
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+«  Fractions reduced to lowest terms al = bz 4+ 2 —2hrcos A cos d = @
* Correct rounding. 2be
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1. Write the three trigonometric ratios for A in the following triangle:
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2. For each triangle below:
i) Explain which strategy/equation you would use to find the missing side (x).
ii)  Findthe missing side (x] in each diagram. (Include units and round to 1dp)
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3. For each triangle below:
i) Explain which strategy /fequation you would use to find the missing angle ()
ii) Find the missing angle (8) in the diagram below. (Include units and round to 1dp)

a) b) Sine |
v, (’ggrg—ro}\ho ) 5 ® S o aw 2n8
= —“lv . O-

_ b
3.7in )
e o s ©%00 . smu’
o Otse: 1 3758 Jusnd3
N

o
K O =(es "( ) Sn® =0.63c5

-sSin—(0-63 (P
éo-%° © >335




4. a) What does it mean to “solve a triangle™?
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b] Solve the triangle. Summarize

SSha @angles.

ranswers in the chart. (Round to 1 dp)

lole knos o bc. Wie need A, B C.
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5. Angle Ais between 02 and 180°. Determine all measures of angle A in each of the following cases:

a) sin A = 0.2079
QL

b) cos A =-0.8151

c)tan A =-2.145

) tan A =1.428
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Communication:
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6. How do you know when to use SOH CAH TOA? How do you know when to use the Sine Law? How do —

you know when to use the Cosine Law? Describe in words and given an example.
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Word Problems (answer on a separate piece of paper):
Draw and label a diagram for each. Round to 1 dp. Remember to write a “therefore” statement at the end.
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7. Aladder 10 feet long is leaning against a wall at a 71° angle. How far from the wall is the foot of the

ladder? How high up the wall does the ladder reach?
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Billy was making a blueprint of his home, which is triangular in shape. One side of the triangular

blueprint is 1.3 meters long. The angles in the triangle at each end of the 1.3m side are 44° and 101°.
Determine the lengths of-the other two sides of the blueprint.
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9. A machinist is cutting out a large triangular piece of metal to make a part for a crane. The sides of the
piece measur%SS inches, 46 inches, and 62 inches. What are the angles between the sides?
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10. A pole is supported by two guy wires, as shown. One wire is attached

l
to the top of the pole and the other is attached at the midpoint. ' X
a) Determine the height of the pole. mdai< 14m | /
b) How far from the base of the pole are the wires anchored? | ] .
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